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1) 4,4
2) 4,-4
3) (0,0)
4) 4
Y
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9) 3,-3
10) 3/2,-3/2
11) ellipse
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15) onthe graph

\%
Y
/
/|
< \
v
5) 5, -1
6) -2,4
7) (1,2)
8) 3
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12) V3, V3
13) V2, V2
14) ellipse
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16) on the graph
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1) 2,-2
2) 2,2
3) (0,0)
4) 2

I <

\
P

9 V6, -V6
10) 2, -2
11) ellipse

=

15) on the graph

5) 1,7
6) 0,-6
7) (-3,4)
8) 3

12) V5, 5
13) /3, /3

14) ellipse

16) on the graph
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- X
Y
1) 3,3
2) 3,-3
3) (0,0)
43
Y
;
/
< S > X
5 -1,5
6) -2,4
7) (1,2
8) 3
\%
\
< > X
v
9) 2,2
10) 3,3

11) 83 =512
.3 2 7 1
512[1721 e64[185 8[57 1]
1536 128 '56 1
185 57 1 0
3271g
12) 55 = 3125
1 1 2 3
3125[4090 625[965 125[340 25[90
3125 625 250  '75
965 340 90 15
3 0
5[15 1[0
1123305 d9. 0
)

13)

14)

15)

16)

17)

19)

20)

6x72+5x71 +4x70
6(49) + 5(7) +4(1) =
294 + 35 +4 =333

8x122 + 11 x 121 + 0 x 120
8(144) + 11(12) + 0(1) = .
1152+ 132 +0=1284

(1x 103)(5 x 102)(7 x 104) =
(1x5x7)(103x 102 x 104) =35 x 109 =
3.5x 1010

4 x 1010 (with significant digits)

(5.8 x 105)(2.3 x 10-3) =

(5.8 x 2.3)(10°5 x 10-3) = 13.34 x 10-8 =
1.3x 107 (with significant digits)

X +2)+4X=-4

6X =-6
X=-1

I

2(-1) + 2

!
Y=o

1}

3Y-2X=-1 = Y=2/83X-1/3

These lines are parallel, so there is no solution!
2Y(Y4-81)=2Y(Y2 + 9)(Y2-9) =

2Y(Y2 + 9)(Y + 3)(Y - 3)

(Y4 + 1)(Y4-1) = (Y4 + 1)(Y2 + 1)(Y2 - 1) =
(Y4 + Y2+ Y + )Y -1)

34D
Y
1
-t B X
AN
Y
1) 2,-2
2) 2,-2
3) (0,0)
4) 2
Y
A
¢ - X
A TN
|V
]
5) -1,-5
6) 1,-3
7) (-1,-8)
8) 2
Y
A
- X
y
9) 3,-3
10) 2, -2

11) X2 . 2X 41
X-1[X3-3x2+ 3X - 1
-(X3 - X2)
-2X2 + 3X
-(-2X2 + 2X)
X -1
-(X-1)
12) 8X2 + 12X + 29 R 59
X-2(8X3- 4x2+ 5X + 1
-(8X3- 16X2)
12X2 + 5X
-(12X2 - 24X)
29X + 1
-(29X - 58)
59
13) 44 = 256
1 1 3 0
256[371 64[115 16[51 4[3 1
256 64 '48 0
115 51 3 3
113034
14) 82 = 64
3 2 7
64[215 8[23 1[7
192 't6 7
23 7 0
3278

15) 4x72+0x7' +6x 70
4(49) +0(7) +6(1) =
196 + 0 + 6 = 202

16) 1x42+0x4! +0x 40
1(16) + 0(4) +0(1) =
16+0+0=16

17) (8x2)(105x 102) =6 x 107

18) (4x5+2)(105x102 +103)=10x 106 =
1x105

19) 4(3X-1)=-3X-19
12X - 4=-3X-19 Y
15X =-15, X=-1 Y

3(-1) - 1

mn

20) 21 +9=15M-9M
30=6M, M=5
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1) 4,-4
2) 4,-4
3) (0,0)
4) 4
) Y
Y
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(X+1)2+(Y+3)2=16
s

3, -
(-1,-3)
4
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5

(2]
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7
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9) 3,-3
10) 4, -4

11) X2 +2X + 1
X+1|X3+3X2+3X+1
(X3 + X2)
2X2 + 3X
-(2X2 + 2X)
+

XX

-

12) X2 +2X+3
X +2| X3 +4X2 4+ 7X + 6
(X3 + 2X2)
2X2 + 7X
-(2X2 + 4X)
3X+6
-(3X + 6)

13) 63 =216 (This problem was misprinted in
some student books.)
4 1
216(1054 36 190 6|10 1
' 864 180 6

190 10 4
4514¢

O|J>A-l>

14) 1x25+0x24+1x23+41x224+1x21 +1x20
1(32) + 0(16) + 1(8) +1( )+ 1(2) +1(1) =
32+0+8+4+2+1=47

15) 3000 < 3025
16) 174,240 ft.2 < 200,000 ft.2

17) (4.2+6)(104 +108)=.7x 107 =7 x 106

18) (7x8+4x 1.4)(108 x 100 = 103x 105) =
10x 100 = 1 x 101

19) (X2-4)(X2 + 4) =
(X-2)(X +2)(X2 + 4)

20) 125 +80A - 100 =30
80A=5
A=5/80=1/16
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